NAIR Assistant Operations Manager AOM

Topic:- AOM_PA_NAIRJUNE23

1) :
Which of the following is a primary unit as per railway statistics?
(1) Tonne-Kms
(2) Kilometer
(3) Wagon Km per wagon day
(4) None of these
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[Question ID = 526][Question Description = Q01_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2101]
2. (2) [Option ID = 2102]
3. (3) [Option ID = 2103]
4. (4) [Option ID = 2104]

Correct Answer :-
® (2) [Option ID = 2102]

Full form of PDD is?

(1) Posi Departure Delay

(2) Post Departure Detention
(3) Pre Departure Detention
(4) Mone of these
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[Question ID = 527][Question Description = Q02_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2105]
2. (2) [Option ID = 2106]
3. (3) [Option ID = 2107]
4. (4) [Option ID = 2108]

Correct Answer :-
® (3) [Option ID = 2107]



3
) Which type of unit is NTKM?

(1) Primary

(2) Fundamental

(3) Derived

(4) Thisis not a unit
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[Question ID = 528][Question Description = Q03_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2109]
2. (2) [Option ID = 2110]

3. (3) [Option ID = 2111]
4. (4) [Option ID = 2112]

Correct Answer :-
® (2) [Option ID = 2110]

When will the long haul not be operated from the next station
during the journey?

(1) Stop signal defective

(2) Hand signal not seen

(3) Walkie talkie defeciive

(4) MNone of these
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[Question ID = 529][Question Description = Q04_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2113]
2. (2) [Option ID = 2114]
3. (3) [Option ID = 2115]
4. (4) [Option ID = 2116]

Correct Answer :-
® (3) [Option ID = 2115]



5)
During Long Haul working, if there is one rake loaded & other is

empty, then?

(1) Loaded rake will be in front
(2) Empty rake will be in front
(3) Any rake can be in front
(4) None of these
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[Question ID = 530][Question Description = Q05_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2117]
2. (2) [Option ID = 2118]
3. (3) [Option ID = 2119]
4. (4) [Option ID = 2120]

Correct Answer :-
e (1) [Option ID = 2117]

How many systems are there for Freight train examination?

(1y 2
(2) 3
(3) 4
(4) None of these
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[Question ID = 531][Question Description = Q06_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2121]
2. (2) [Option ID = 2122]
3. (3) [Option ID = 2123]
4. (4) [Option ID = 2124]

Correct Answer :-
e (2) [Option ID = 2122]



7 What 1s the target time for dispatching Accident Relief Train?
(1) 45 minutes in day & 30 minutes in night
(2) 15 minutes in day & 20 minutes in night
(3) 30 minutes in day & 45 minutes in night
(4) None of these
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[Question ID = 532][Question Description = Q07_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2125]
2. (2) [Option ID = 2126]
3. (3) [Option ID = 2127]
4. (4) [Option ID = 2128]

Correct Answer :- Deleted

Within how many days after the date of accident, DAR aclion
has to be completed?

(1) D+30

(2) D+B0

(3) D+%0

(4) MNone of these
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[Question ID = 533][Question Description = Q08_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2129]
2. (2) [Option ID = 2130]
3. (3) [Option ID = 2131]
4. (4) [Option ID = 2132]

Correct Answer :-
® (3) [Option ID = 2131]



) Inguiry of railway accident by CRS is mentioned under which

section of the Railway Act 19397

(1) Section 114
(2) Section 115
(3) Section 116
(4) MNone of these
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[Question ID = 534][Question Description = Q09_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2133]
2. (2) [Option ID = 2134]
3. (3) [Option ID = 2135]
4. (4) [Option ID = 2136]

Correct Answer :-
e (1) [Option ID = 2133]

Which of the following rule book is not kept in Accident Relief
Train?

{1) G&SR

(2) Accident Manual

{3) Working Time Table

(4) Block Working Manual
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[Question ID = 535][Question Description = Q10_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2137]
2. (2) [Option ID = 2138]
3. (3) [Option ID = 2139]
4. (4) [Option ID = 2140]

Correct Answer :-
® (4) [Option ID = 2140]
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) How much loss of Railway property will be considered as a

serous accident?
(1) More than Rs 25 lakhs
(2) More than Rs 20 crore
(3) More than Rs 2 crore
(4) None of these

& Hft o1 fhae THaH g1 W 39 U gHe I S

(1) T25T@ | 3udH
(2) ¥F20FUs U AHU®
(3) F2TUSH g®m
(4) s Yo T

[Question ID = 536][Question Description = Q11_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2141]
2. (2) [Option ID = 2142]
3. (3) [Option ID = 2143]
4. (4) [Option ID = 2144]

Correct Answer :-
e (3) [Option ID = 2143]

Train accidents have been classified into how many categories?

(1) AtoR

(2) Atol

(3) AtoO

(4) None of these
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[Question ID = 537][Question Description = Q12_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2145]
2. (2) [Option ID = 2146]
3. (3) [Option ID = 2147]
4. (4) [Option ID = 2148]

Correct Answer :-
® (4) [Option ID = 2148]



13 = <
) The section controller can call at the same time.__.__.7?

{1) ©One station only
(2) Two stations only
(3) All stations

(4) MNone of these
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[Question ID = 538][Question Description = Q13_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2149]
2. (2) [Option ID = 2150]
3. (3) [Option ID = 2151]
4. (4) [Option ID = 2152]

Correct Answer :-
e (3) [Option ID = 2151]

When the control is interrupted and no communication with the
controller is possible, who will be responsible for the working
and regulating of trains?

(1) Chief Controller

(2) Station Masters

(3) Traffic Inspector

(4) Loco Pilots
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[Question ID = 539][Question Description = Q14_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2153]
2. (2) [Option ID = 2154]
3. (3) [Option ID = 2155]
4. (4) [Option ID = 2156]

Correct Answer :-
e (2) [Option ID = 2154]



15) _
Which register is not maintained by Section Controllers?

(1) Train Ordering Book
(2) Load Register

(3) Interchange Register
(4) Engine Book

YR HEIR R G -1 ere H-e- a1 [bal =T 82

(1) 9 e gs
(2) w=IorE
(3) Fedw IR
(4) FoIdH

[Question ID = 540][Question Description = Q15_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2157]
2. (2) [Option ID = 2158]
3. (3) [Option ID = 2159]
4. (4) [Option ID = 2160]

Correct Answer :- Deleted

In case of a goods train accident, arrangement of road transport
and labour for unloading the wagons involved in the accident, 1s
the duty of . 7

(1) Chief Controller / Dy. Chief Controller (Stock)
(2) C&W Contral

(3) Commercial Contral
(4) Engineering Control
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[Question ID = 541][Question Description = Q16_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2161]
2. (2) [Option ID = 2162]
3. (3) [Option ID = 2163]
4. (4) [Option ID = 2164]

Correct Answer :-
® (3) [Option ID = 2163]



17)

Freight train ordering message is called?

(1) Control Order
(2) Train Notice
(3) CC Message
(4) MNone of these
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[Question ID = 542][Question Description = Q17_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2165]
2. (2) [Option ID = 2166]
3. (3) [Option ID = 2167]
4. (4) [Option ID = 2168]

Correct Answer :-
® (2) [Option ID = 2166]

Power plan indicates the number of Locos required for?

(1) Coaching Service

(2) Freight Service

(3) Parcel Express trains
(4) None of these
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[Question ID = 543][Question Description = Q18_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2169]
2. (2) [Option ID = 2170]
3. (3) [Option ID = 2171]
4. (4) [Option ID = 2172]

Correct Answer :-
® (2) [Option ID = 2170]



19)

Laco outage can be prepared?

(1) Service-wise
(2) Shed-wise
(3) Traction wise

(4) All of the given options
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[Question ID = 544][Question Description = Q19_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2173]
2. (2) [Option ID = 2174]
3. (3) [Option ID = 2175]
4. (4) [Option ID = 2176]

Correct Answer :-
e (4) [Option ID = 2176]

Which statement is correct?

(1) Freight frain ordering can't be cancelled

(2) Freight train can’t be re-ordered

(3) Freight Train ordering can be rescheduled / put back
(4) All of the given options
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[Question ID = 545][Question Description = Q20_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2177]
2. (2) [Option ID = 2178]
3. (3) [Option ID = 2179]
4. (4) [Option ID = 2180]

Correct Answer :-
® (3) [Option ID = 2179]



21 )
) Alletment despite restrictions is controlled at?

(1) Railway Board level
(2) Zonal HQ level

(3) Divisional level

{(4) Area Control level
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[Question ID = 546][Question Description = Q21_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2181]
2. (2) [Option ID = 2182]
3. (3) [Option ID = 2183]
4. (4) [Option ID = 2184]

Correct Answer :-
® (2) [Option ID = 2182]

System of signalling & Interiocking and communication
arrangements 1s mentioned n which appendix of Station
Waorking Rule?

(1) Appendix “A’
(2) Appendix E
(3) Appendix "B”
(4) None of these
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[Question ID = 547][Question Description = Q22_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2185]
2. (2) [Option ID = 2186]
3. (3) [Option ID = 2187]
4. (4) [Option ID = 2188]

Correct Answer :-
e (3) [Option ID = 2187]



23)
Main Body of Station Working Rule is signed by _____?

(1)

(2)

(3)

(4)

Officers of Operating & Signal Deptt.
Officers of only Opig. Depit.

Officers of Operating & Engg. Deptt
None of these
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[Question ID = 548][Question Description = Q23_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2189]
2. (2) [Option ID = 2190]
3. (3) [Option ID = 2191]
4. (4) [Option ID = 2192]

Correct Answer :-
e (1) [Option ID = 2189]

The period for which Muster Roll should be preserved from the
date of its compietion?

(1)
(2)
(3)

3 yedrs
2 years
1 year

Permanent Record

(4)
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549][Question Description = Q24_AOM_PA_NAIRJUNE23]

1. (1) [Option ID = 2193]
2. (2) [Option ID = 2194]
3. (3) [Option ID = 2195]
4. (4) [Option ID = 2196]

Correct Answer :-
® (4) [Option ID = 2196]
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) A substitute of Shunting Limit Board is-

(1) Calling-on signal
(2) Starter

(3) First stop signal
(4) Last stop signal
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[Question ID = 550][Question Description = Q25_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2197]
2. (2) [Option ID = 2198]
3. (3) [Option ID = 2199]
4. (4) [Option ID = 2200]

Correct Answer :-
® (4) [Option ID = 2200]

When a shunt signal is placed below a stop signal, it shall show
— light i the "ON’ position.

(1) White

(2) Yellow

(3) Red

{4) No light
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[Question ID = 551][Question Description = Q26_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2201]
2. (2) [Option ID = 2202]
3. (3) [Option ID = 2203]
4. (4) [Option ID = 2204]

Correct Answer :-
® (4) [Option ID = 2204]



27)
A Loco Pilot / Asstt Loco Pilet should record in the register —
— days in advance that he is lapsing road leaming in a section.

(1) 7 days

(2) 13 days

(3) 15days

(4) MNone of these
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[Question ID = 552][Question Description = Q27_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2205]
2. (2) [Option ID = 2206]
3. (3) [Option ID = 2207]
4. (4) [Option ID = 2208]

Correct Answer :-
® (3) [Option ID = 2207]

Cantinuous night duty for Running Staff should be limited to —
— nights with last night duty towards Headquarter.

(1) 3 nights
(2) 4 nights
(3) 5 nights
(4) None of these
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[Question ID = 553][Question Description = Q28_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2209]
2. (2) [Option ID = 2210]
3. (3) [Option ID = 2211]
4. (4) [Option ID = 2212]

Correct Answer :-
® (2) [Option ID = 2210]
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) The out station rest, in case of 8 hours or mere duty frem Sign

ON to Sign OFF In the previous tnip, should be hours.

(1) 4 hours
(2) 6 hours
(3) 8 hours
(4) None of these
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[Question ID = 554][Question Description = Q29_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2213]
2. (2) [Option ID = 2214]
3. (3) [Option ID = 2215]
4. (4) [Option ID = 2216]

Correct Answer :-
® (3) [Option ID = 2215]

The permitted ineffective percentages for Maintenance & Traffic
spares of AC coaches (oiher than Rajdhani/Shatabdi and
similar premium trains) are-

(1) 6% Maintenance & 5 % Traffic
(2) 5% Maintenance & 6 % Traffic
(3) 9% Maintenance & 7 % Traffic
(4) None of these
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[Question ID = 555][Question Description = Q30_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2217]
2. (2) [Option ID = 2218]
3. (3) [Option ID = 2219]
4. (4) [Option ID = 2220]

Correct Answer :-
e (1) [Option ID = 2217]



31) What is the minimum Axle Load route prevailing in Indian
Railways?
(1) 20tion
(2) 22taon
(3) 224ton
(4) 229ion

HRAY ed H W ied gaad U als Anl &1 52

(1) 20T

(2) 2274

(3) 224¢9

(4) 2294
[Question ID = 556][Question Description = Q31_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2221]
2. (2) [Option ID = 2222]

3. (3) [Option ID = 2223]
4. (4) [Option ID = 2224]

Correct Answer :-
® (2) [Option ID = 2222]

In which of the following Zone, 25 Ton Axle Load Route i1s not
available?

(1) SER

(2) SCR

(3) ECoR

(4) MNaone of these
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[Question ID = 557][Question Description = Q32_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2225]
2. (2) [Option ID = 2226]
3. (3) [Option ID = 2227]
4. (4) [Option ID = 2228]

Correct Answer :-
® (4) [Option ID = 2228]



33)
In case of emergency, CC+6 loaded wagons c¢an be permitted
on excepted CC+6 routes. Permission can be given by?

(1) PCE
(2) PCOM
(3) CRS
(4) None of these
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[Question ID = 558][Question Description = Q33_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2229]
2. (2) [Option ID = 2230]
3. (3) [Option ID = 2231]
4. (4) [Option ID = 2232]

Correct Answer :-
e (1) [Option ID = 2229]

Which of the following statement are not correct about mini
rake?

(1) Minirake can be loaded with iron ore

{2) Minirake is charged at Train Load Class

(3) Mini rakes are permitted only in covered wagons

(4) Free time for loading / unloading of mini rake will be 5
hrs.
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[Question ID = 559][Question Description = Q34_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2233]
2. (2) [Option ID = 2234]
3. (3) [Option ID = 2235]
4. (4) [Option ID = 2236]

Correct Answer :-
e (1) [Option ID = 2233]



35 : : ;
) Explosives are divided into how many classes?

(1) 3
2) 5
3) 7
(4) None cf these
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[Question ID = 560][Question Description = Q35_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2237]
2. (2) [Option ID = 2238]
3. (3) [Option ID = 2239]
4. (4) [Option ID = 2240]

Correct Answer :-
® (3) [Option ID = 2239]

Free time for un-loading of BTPN type of wagon under Engine
on load scheme is given as?

(1) 5 hours
(2) 6 hours
(3) 9 hours

(4) None of these
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[Question ID = 561][Question Description = Q36_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2241]
2. (2) [Option ID = 2242]
3. (3) [Option ID = 2243]
4. (4) [Option ID = 2244]

Correct Answer :-
e (1) [Option ID = 2241]



37)

If & passenger carrying train does not armve within minutes
after allowing for its nermal running time from the station in rear,
the Station Master at the station in advance shall immediately
advise the stfation in rear and the control of this fact.

(1) 5
(2) 10
(3) 15

(4) None of these
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[Question ID = 562][Question Description = Q37_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2245]
2. (2) [Option ID = 2246]
3. (3) [Option ID = 2247]
4. (4) [Option ID = 2248]

Correct Answer :-
e (2) [Option ID = 2246]

The powers fo grant traffic blocks upto hours have been
given o DRM.

(1) 3
2) 4
(3) Full powers
(4) None of these

HEO I ISy & Ue am CIibd 1D o B UK fadr
TR

(1) 3

2) 4

(3) oot mfcar

@ IS T

[Question ID = 563][Question Description = Q38_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2249]
2. (2) [Option ID = 2250]
3. (3) [Option ID = 2251]
4. (4) [Option ID = 2252]

Correct Answer :-
® (2) [Option ID = 2250]



39
) GM can sanction NI upto days subject to certain conditions.
(1
(2) 2
(3) 3
(4) None of these

gamﬁﬂagﬁuﬁﬂwﬁqmaﬂﬁﬂﬁ_ﬁﬁfaﬁﬁqﬂ%ﬂﬁ
|

(1) 1
(2) 2
(3) 3

(4) DRI

[Question ID = 564][Question Description = Q39_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2253]
2. (2) [Option ID = 2254]
3. (3) [Option ID = 2255]
4. (4) [Option ID = 2256]

Correct Answer :-
® (3) [Option ID = 2255]

ETA@ __  minutes per 100 kms shall be provided in sections
having speed of 130 kmph and above.

(1 4

2) 6

(3) 8

(4) None of these

u@  fime uld 100 B, 130 Bl ol we o ol
3iferen @t ifa arcl Wsi 5 ueH foar s

(1) 4
2) 6
(3) 8

4) I DE AR

[Question ID = 565][Question Description = Q40_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2257]
2. (2) [Option ID = 2258]
3. (3) [Option ID = 2259]
4. (4) [Option ID = 2260]

Correct Answer :-
e (3) [Option ID = 2259]



41)
Which of the following is not a luxury tourist train?

(1) Royal Rajasthan on wheels
(2) Maharaja Express

(3) Panj Takht

(4) None of these

Frfofas 1 9 o b ool efive 27 e 82

(1) o T 3T e
(2) TOERTST UFHUE

(3) Ue T

@) FTHIADRAG

[Question ID = 566][Question Description = Q41_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2261]
2. (2) [Option ID = 2262]
3. (3) [Option ID = 2263]
4. (4) [Option ID = 2264]

Correct Answer :-
e (3) [Option ID = 2263]

In case of train running with LHB coaches with deflated air
spring in secondary stage suspension, frain is permitted to run
at kmph speed.

(1) 50

(2) 60

(3) 90

(4) None of these

Vel wu ey § Sucies R B arel wauad) i & wy
T gl S G HEA A eA DI fobwl wid v &1 1k & ge
B AR B

(1) 50

(2) 60

(3) 90

4) IS 60

[Question ID = 567][Question Description = Q42_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2265]
2. (2) [Option ID = 2266]
3. (3) [Option ID = 2267]
4. (4) [Option ID = 2268]

Correct Answer :-
® (2) [Option ID = 2266]



43)
Formula of Loco outage is?
(1) Total engine hours from shed/24
(2) Engine hours for traffic use/12
(3) Total engine hours from shed/12
(4) Engine hours for traffic use/24

] A3el & GA 872

(1) 59 page He/24
(2) TramE 3UYNT & [TE S He/12
(3) s Y Ho o He/12
(4) T SUa & og 39 H9c/24

[Question ID = 568][Question Description = Q43_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2269]
2. (2) [Option ID = 2270]
3. (3) [Option ID = 2271]
4. (4) [Option ID = 2272]

Correct Answer :-
e (4) [Option ID = 2272]

Loco / Power links are prepared by?

(1) HQ’s office

(2) Division's office
(3) Loco lobbies
(4) None of these

di! / UiaR feie fege grT aar fdu @rd g2

(1) ey
(2) fefaem aiiftbg
(3) i el

(4) s B TR

[Question ID = 569][Question Description = Q44_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2273]
2. (2) [Option ID = 2274]
3. (3) [Option ID = 2275]
4. (4) [Option ID = 2276]

Correct Answer :-
e (1) [Option ID = 2273]



45
) The periedicity of Loco maintenance schedule IB for coaching

locos (conventional Loca) 1s:

(1) 40+/-3days
(2) 80 +/-3days
(3) 60 +/-3days
(4) None of these

I wieel (ARufe die) & T die) sRe gl srsdl
! afded o

(1) 40+-3fea
(2) so+-3fea
(3 e60+-3feT
@) BT

[Question ID = 570][Question Description = Q45_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2277]
2. (2) [Option ID = 2278]
3. (3) [Option ID = 2279]
4. (4) [Option ID = 2280]

Correct Answer :-
® (2) [Option ID = 2278]

Guard’'s reugh journal is reguired to be preserved for the penod
of?

(1) 3years
(2) 2 vyears
(3) 5 years
{4) None of these

S ®f T G- & [cha- WY T Y& TG a9 o2

(1) 39«
(2) 23m@a
(3) 59

(4) IS T

[Question ID = 571][Question Description = Q46_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2281]
2. (2) [Option ID = 2282]
3. (3) [Option ID = 2283]
4. (4) [Option ID = 2284]

Correct Answer :-
e (1) [Option ID = 2281]



47 ; ; : ;
) At what time intervals, are the runming staff reviewed?

(1) 1year
(2) 2vyears
(3) 6 months

(4) None of these

oo umg 2foRre wR I e o weten o w82
(1) 19

(2) 29m@

(3) BHE

4) PSRl

[Question ID = 572][Question Description = Q47_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2285]
2. (2) [Option ID = 2286]
3. (3) [Option ID = 2287]
4. (4) [Option ID = 2288]

Correct Answer :-
e (1) [Option ID = 2285]

How many dead engines can be aftached to
Mail/Express/Superfast trains?

(1 1
(2) cannot be attached
(3) 2

{4) None of these

/YIRS ¢4l § [ S8 39 wle o ¥dd o2

(1) D

(2) =i SisT o9&l
3) =@

(4) YIS 5

[Question ID = 573][Question Description = Q48_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2289]
2. (2) [Option ID = 2290]
3. (3) [Option ID = 2291]
4. (4) [Option ID = 2292]

Correct Answer :-
e (1) [Option ID = 2289]



49)

What is the gross clearance of 'B* class ODC?

(1) Less than 6 inches

(2) 6 inches or more but less than 9 inches
{3) 8inches or more

(4) None of these

A g S BT U ey o BT 57

(1) 63ad9®H

(2) esau i@ dfb193ad &HH
(3) osam e

(4) s EHE e

[Question ID = 574][Question Description = Q49_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2293]
2. (2) [Option ID = 2294]
3. (3) [Option ID = 2295]
4. (4) [Option ID = 2296]

Correct Answer :-
e (2) [Option ID = 2294]

The modified Semi-Automatic stop signal is controlled by ——

(1) SMinrear

(2) SMin Advance
(3) Either (1) or (2)
(4) None of these

(1) =& w3 O
(2) TSR WIF o w8 AR
(3) =rarmarE)
1) IR T

[Question ID = 575][Question Description = Q50_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2297]
2. (2) [Option ID = 2298]
3. (3) [Option ID = 2299]
4. (4) [Option ID = 2300]

Correct Answer :-
® (2) [Option ID = 2298]



51)
Who permit Inter Railway movement of A class ODC?
(1) CRS
(2) PCOM of the same zone
(3) Senior DOM

(4) PCOM of the same zone and PCOM of the railway
concemed

© ot STl & o3 Yo e @1 AEfd e earee

(1) wiemuy

2) I =E @ g e

(3) wifaw Sieiuy

(4) i Gl &1 Yidisfiun ud Yaftd Yed o didisiue

[Question ID = 576][Question Description = Q51_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2301]
2. (2) [Option ID = 2302]
3. (3) [Option ID = 2303]
4. (4) [Option ID = 2304]

Correct Answer :-
® (4) [Option ID = 2304]

What is the maximum speed of A class ODC in BG?

(1) 40 km/h

(2) Sectional speed
(3) 60 km/h

(4) None of these

wiw 7 T aarg SNSRI &t sfidman fa s e?

(1) 40 fosl/ser
(2) Ha=Ee T
(3) 60 fosHl/EET
(4) T A DIS ol

[Question ID = 577][Question Description = Q52_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2305]
2. (2) [Option ID = 2306]
3. (3) [Option ID = 2307]
4. (4) [Option ID = 2308]

Correct Answer :-
e (2) [Option ID = 2306]



53)
The mid-section modified semi-automatic stop signal is
interlocked with

(1) LSS of station in rear

(2) FSS of station in advance
(3) Both (1) &(2)

(4) Either of (1) or (2)

oy We it el gafea wn R . & TY SeliD
o T 3

(1) dies & H &1 Uy
(2) ¥aH &1 UpTELY HEH
(3 aH (1) 3R (2)
4 TamE)

[Question ID = 578][Question Description = Q53_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2309]
2. (2) [Option ID = 2310]
3. (3) [Option ID = 2311]
4. (4) [Option ID = 2312]

Correct Answer :-
e (3) [Option ID = 2311]

Preferential fraffic order is issued under which section of
Railway Act 19897

(1) Section 70

(2) Section 71

(3) Section72

(4) None of these

Ierd sifefas 1980 & fa w1 & dgd SifeErg ara SieEr
It fpar sirar g2

(1) =m0
(_2) YR 71
(3) s72

@) A BIS T

[Question ID = 579][Question Description = Q54_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2313]
2. (2) [Option ID = 2314]
3. (3) [Option ID = 2315]
4. (4) [Option ID = 2316]

Correct Answer :-
® (2) [Option ID = 2314]



55)

Free time for un-loading of BCN type of wagon under Engine on
load scheme is given as?

(1), 6 hours

(2) 5 hours

(3) 4 hours

(4) MNone of these

o 3T AIS TIoHT & ded S99 UHR & a7 &I GIel B &1
Wi W fem T g

(1) sHc
(2) s%¢
(3) 44e
(4) T g

[Question ID = 580][Question Description = Q55_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2317]
2. (2) [Option ID = 2318]
3. (3) [Option ID = 2319]
4. (4) [Option ID = 2320]

Correct Answer :-
e (1) [Option ID = 2317]

Software aided frain schedule and network governance
(SATSanG) program i1s used for ... ?

(1) Time tablin.g of passenger frains
(2) Timetabling of freight trains

{(3) Effective utilization of wagons
(4) Effective utilization of Crew

AR Tes o WSqe US Head Tg-9 (SATSanG) Wi ......
& o sedmr fhgr ST 82

(1) ol &&f of wag aiftf
(2) wraieyl &l THa 9Nl
(3) QAT BT UM TR
(4) are® Ga @ UHE ST

[Question ID = 581][Question Description = Q56_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2321]
2. (2) [Option ID = 2322]
3. (3) [Option ID = 2323]
4. (4) [Option ID = 2324]

Correct Answer :-
e (1) [Option ID = 2321]



57)
Full form of CADAT is?

(1) Computer Aided Drivers Awareness Test

(2) Comprehensive Awareness of Drivers Ability Test
(3) Computer Aided Drivers Aplitude Test

(4) None of these

iUt (CADAT) @1 guf &1 32

(1) FUEITSS TRAH AW ¢

(2) SHRERE sdue aiip sEad uRfad e
(3) Ut IS gAY UiHs T

@) RIS T

[Question ID = 582][Question Description = Q57_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2325]
2. (2) [Option ID = 2326]
3. (3) [Option ID = 2327]
4. (4) [Option ID = 2328]

Correct Answer :-
® (3) [Option ID = 2327]

Expand RFID?

(1) Rail frequency identity device

(2) Radio forwarding identification device
(3) Rail forwarding intact device

(4) Radio Frequency Identification

IRUGARa! &1 10 w0 fo?

(1) @ fpedl spgafed) feay

(2) “fsalwaffdn smsadiftraam feasg
(3) Y@ wEiaT scac fBasy

@) Yz red aEsSditreray

[Question ID = 583][Question Description = Q58_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2329]
2. (2) [Option ID = 2330]
3. (3) [Option ID = 2331]
4. (4) [Option ID = 2332]

Correct Answer :-
e (4) [Option ID = 2332]



39) Train Collision Aveidance System (TCAS) is an indigenously

developed Automatic Train Protection System meant to provide
protection to trains against

(1) Signal Passing at Danger
(2) Owver speeding
(3) Collisions

(4) All of the given oplions

wWedll = ¥ [deiia e Wity met gean wone g, S misal
@l Y & UG Sl o

(1) e e UR &3
(2) eFAT S ofdw i
(3) Tgar

(4) fdu e gl fdemeg

[Question ID = 584][Question Description = Q59_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2333]
2. (2) [Option ID = 2334]
3. (3) [Option ID = 2335]
4. (4) [Option ID = 2336]

Correct Answer :-
® (4) [Option ID = 2336]

The maximum speed of a irain in a double line section shall be
restnicted to ________ KIMPH during dense fog, in automatic area.

(1) 15 KMPH
(2) 10 KMPH
(3) 30 KMPH
(4) MNone of these

A IS SaR B e @1 S aH 1 5 BIee & QR e
35 e (R ot ufer 92 g difga gt

(1) 15 f[adtufg =2
@) 10 fedtufgEe
(3) 30 fFdiufgEe

@) H Y BIE E

[Question ID = 585][Question Description = Q60_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2337]
2. (2) [Option ID = 2338]
3. (3) [Option ID = 2339]
4. (4) [Option ID = 2340]

Correct Answer :- Deleted



61
) Every Loco Pilot and ALP shall "sign on" ... minutes in

advance for examining and taking over the Multiple Unit Electnc
Engine in the shed.

(1) 45

() 30

(3) 60

(4) None of these

nd diel urgee SR vuadt 918 § Hediud g gafacs ge

(1) 45
(2) 30
(3) 60

4) DR Ol

[Question ID = 586][Question Description = Q61_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2341]
2. (2) [Option ID = 2342]
3. (3) [Option ID = 2343]
4. (4) [Option ID = 2344]

Correct Answer :-
e (1) [Option ID = 2341]

Record foll of the Caution Orders shall be preserved for period
of how many months?

(1) 4

(2) 6

(3) 12

(4) Permanently

Toodl G B Rals o= (Hraa) e TeiH1 ot oefy & fo
e @ wmfi?

(1) 4

(2) 6

(3) 12

4) =EfliEgy

[Question ID = 587][Question Description = Q62_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2345]
2. (2) [Option ID = 2346]
3. (3) [Option ID = 2347]
4. (4) [Option ID = 2348]

Correct Answer :- Deleted



63) If loco pilet and/or the guard failed to exchange signal with the

station staff and the same has been reporied to the Stalion
Master of the block station in advance, the Siation Master of
block station in advance shall _________

(1) Stop and examine the train

(2) Stop the train and hand over a written warning to the
~ defaulting staff
(3) Ensure whether LP and guard is available or not

(4) None of these

Tfe it uree SR/Al TS RuH SR & ury T emeE
TG S H [dhd Tod © SR ST I § STl saih €3 & I
HreY o i feor o 9 o s WYH &1 ©uH

(1) TSI AHH FHSH! Fid Pl

(2) TSt @ B AR T B arel HHAR @i ferad
(3) g 9 o diel grgee ud 1S Hieg § 91 Aol
@) TS ols e

[Question ID = 588][Question Description = Q63_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2349]
2. (2) [Option ID = 2350]
3. (3) [Option ID = 2351]
4. (4) [Option ID = 2352]

Correct Answer :- Deleted

Section will be considered saturated when line capacity
exceeds

(1) 100% of charled capacity
(2) 90% of charted capacity
(3) 80% of charted capacity
(4) None of these

TS & ... d HUS T O YT B T TH1 S|

(1) TS &Hdr &1 100%
(2) TS &HTT T 90%
(3) =TS &HIT T 80%

4 AP T

[Question ID = 589][Question Description = Q64_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2353]
2. (2) [Option ID = 2354]
3. (3) [Option ID = 2355]
4. (4) [Option ID = 2356]

Correct Answer :-
® (2) [Option ID = 2354]



65
) WIL board is provided on the approach of all level crossings at

adistanceof ... meters
(1) 600
(2) 800
(3) 400
(4) MNone of these

gﬁg/qaﬁlémﬂﬂnmﬁ & UgC........HT. B il 9¢ UgH [ oid
|

(1) 600
(2) 800
(3) 400

@) P

[Question ID = 590][Question Description = Q65_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2357]
2. (2) [Option ID = 2358]
3. (3) [Option ID = 2359]
4. (4) [Option ID = 2360]

Correct Answer :-
e (1) [Option ID = 2357]

When running through between block stations and when
running with the engine leading, the speed of a material train
shall notexceed. ...

(1) 25 kmph

(2) speed prescribed for goods train of similar stock
(3) 40 kmph

(4) None of these

Sig Wl Sl & sie R & a9 01 6l R S99 aie A
& SHD! T ... fB /G oife R it

(1) 25 faseil ufq ¢
(2) THE =S 9 gene; &) Ry
(3) 40 foerdt ufd €€
(4) = IAPE o

[Question ID = 591][Question Description = Q66_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2361]
2. (2) [Option ID = 2362]
3. (3) [Option ID = 2363]
4. (4) [Option ID = 2364]

Correct Answer :-
® (2) [Option ID = 2362]



67) The brake feel test is done by Loco Pilot at the speed of

Kmph.
(1) 50
(2) 40
(3) 15
(4) None of these

%ﬁaﬁwmﬁauﬂaaﬁ UROOOON [ % =1 43 Lol ) K I S A R S R
I

(1) 50
(2) 40
(3) 15

4) DL

[Question ID = 592][Question Description = Q67_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2365]
2. (2) [Option ID = 2366]
3. (3) [Option ID = 2367]
4. (4) [Option ID = 2368]

Correct Answer :- Deleted

The correct sequence in which foliowin.g plans / drawings are
prepared?

(1) SIP, ESP, SWRD

(2) ESP, SIP, SWRD

(3) SIP, SWRD, ESP

(4) SWRD, SIP, ESP

g Tl @y o Fafafaa g 7 gEn dor o 9rd 32

(1) whemsdt Sugdl tHesyHRal
(2) Sugdl THIEdl THSsgIRS!
(3) uwwmemstt, THSsHRE!, suadl
(4) vHSSUHRS!, THAET, STl

[Question ID = 593][Question Description = Q68_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2369]
2. (2) [Option ID = 2370]
3. (3) [Option ID = 2371]
4. (4) [Option ID = 2372]

Correct Answer :-
® (2) [Option ID = 2370]



69
) The code for AC Chair Car second class of broad gauge

coaching stock 1s?
(1) WGSCZAC
(2) WSCZAC
(3) WGFCZ
(4) None of these

IS 16 SifdT i &1 gHl IR B fgdia 3o o1 oS 82

(1) SsgsiTgdiws g
(2) ssgugdissud
(@) T=gulusHiEs
4) s ADIE Rl

[Question ID = 594][Question Description = Q69_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2373]
2. (2) [Option ID = 2374]
3. (3) [Option ID = 2375]
4. (4) [Option ID = 2376]

Correct Answer :- Deleted

When IBS is at "'ON' and if telephone is not provided or out of
order at Intermediate block post, Loco pilot after waiting for

minutes at the signal shall pass it at 'ON' proceeding
cautiously.

(1) 07 minutes
(2) 05 minutes
(3) 10 minutes
(4). 15 minutes

Od HISAITH AT T8l A Ofe Seuiifsue wiie Ue TR edipiH
FUGS el ¢ 9T EE ©, Ol i UTae RO U firca®
URHET B & 91 TEaHFIYad 39 ST T U &3

(1) o7 B=e
(2) 05f=e
(3) 10fme
4) 15fae

[Question ID = 595][Question Description = Q70_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2377]
2. (2) [Option ID = 2378]
3. (3) [Option ID = 2379]
4. (4) [Option ID = 2380]

Correct Answer :-
® (2) [Option ID = 2378]



™ Sand Hump is an extended portion of rail in sand with
increasing gradient of
(1) 1in6d
(2) 1in80
(3) 1in100
(4) Nane of these

3 B0 &1 98 § 10 @1 U@ [aeid 4T ¢ @ Seal o
(increasing gradient)

(1) 13960
(2) 1380
(3) 139100
(4) $HE DI

[Question ID = 596][Question Description = Q71_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2381]
2. (2) [Option ID = 2382]
3. (3) [Option ID = 2383]
4. (4) [Option ID = 2384]

Correct Answer :-
e (1) [Option ID = 2381]

TVU of special class LC gate shall be

(1) Greater than 40,000
(2) Greater than 45,000
(3) Greater than 50,000
{(4) None of these

faeiy gl & wert e & ddig GiLl

(1) 40,000 9 f¥®
(2) 45,000 ¥ sifew
(3) 50,0009 g
(4) T A DS T

[Question ID = 597][Question Description = Q72_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2385]
2. (2) [Option ID = 2386]
3. (3) [Option ID = 2387]
4. (4) [Option ID = 2388]

Correct Answer :-
e (3) [Option ID = 2387]



73
) The distance of derailing switch from the points is about

feet
(1) 10
(2) 15
(3) 20

(4) MNone of these

fogait 9 fetfen g ol gliernpr___ wie gl

(1) 10
@ 15
(3) 20
4) Y

[Question ID = 598][Question Description = Q73_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2389]
2. (2) [Option ID = 2390]
3. (3) [Option ID = 2391]
4. (4) [Option ID = 2392]

Correct Answer :-
e (2) [Option ID = 2390]

74
) The Ceriificate of Competency for operation of Block Instrument
shall be valid for a period of years.
(1) Two
(2) Three
(3) Four

(4) None of these

i S¥cHe & YaIae & U g &1 gE o auf @it
3rafe & fore gy grml

(M @
2) =
(3) =r

4) s ABIs T

[Question ID = 599][Question Description = Q74_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2393]
2. (2) [Option ID = 2394]
3. (3) [Option ID = 2395]
4. (4) [Option ID = 2396]

Correct Answer :-
® (2) [Option ID = 2394]



75
) Brake power percentage of an ordinary 'End to End’ Air Brake

rake other than premium rake at en—route station should be: -
(1) 75%
(2) 85%
(3) 95%
(4) MNone of these

¢ WIH W WiEH 36 & e 9 IS ¢ Us TR 6

(1) 75%
(2) 85%
(3) 95%

4) FH DI A

[Question ID = 600][Question Description = Q75_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2397]
2. (2) [Option ID = 2398]
3. (3) [Option ID = 2399]
4. (4) [Option ID = 2400]

Correct Answer :-
e (1) [Option ID = 2397]

Colour light Distant Signal may be combined with LSS, Gate
Stop Signal efc. under: -

(1) Approved Special Instruction
(2) Special Insiruction

(3) Working Instruction

(4) None of these

HeR dIEC [Swc [PHd ©f U U9 TW, Tic WY e ot &
I SIST & "l g

(1) srHifed Ay sew
(2) a9 sEEw

(3) @ 3rgem™

(4 Y DR TR

[Question ID = 601][Question Description = Q76_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2401]
2. (2) [Option ID = 2402]
3. (3) [Option ID = 2403]
4. (4) [Option ID = 2404]

Correct Answer :-
e (1) [Option ID = 2401]



77
) A Railway servant is debarred of taking any Alcoholic

drink/Sedative/Narcotic/ Stimulant drug or preparation within
how many hours before the commencement of his duty aor when

on duty-
(1) 6 hours
(2) 8 hours
(3) 12 hours
(4) None of these

T 30 YA &I ST § 3l SYC) 9 fha e Ted 9@ At/
30 ARiielt / SEiRl /i @ drclt ar Iusid qari a1 g &l
3 ggait & QT &1 TR

(1) 6dc
(2) gHeT
(3) 12%c
4) sTHA DS TR

[Question ID = 602][Question Description = Q77_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2405]
2. (2) [Option ID = 2406]
3. (3) [Option ID = 2407]
4. (4) [Option ID = 2408]

Correct Answer :-
e (2) [Option ID = 2406]

At a 'B’ class double line MACL station, rear block section
terminates at-

(1) Outermost facing point

(2) BSLB

(3) Eitherat (1) or (2)

(4) None of these

W' T S99 ag Heolqd uqudite ©IH § e swie gaee
61 I Bil © —

(1) 9&9 95l BRI ERe )
(2) dugueE!
(3) At M)W

4) TIPS

[Question ID = 603][Question Description = Q78_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2409]
2. (2) [Option ID = 2410]
3. (3) [Option ID = 2411]
4. (4) [Option ID = 2412]

Correct Answer :-
® (3) [Option ID = 2411]



79
) At a ‘B’ class Double Line MACL station, while performing

shunting up to the First stop signal in rear i.e. up to the Home
signal, Block Back is -

(1) MNecessary

(2) Not Necessary

(3) Depends on Layout
{(4) None of these

o G S IS THUEIE R H Uy U@ R sl e
e oo it B & o =e A -

(1) amawmss

) T ET
(3) Tamcm ik
4) THIADE -

[Question ID = 604][Question Description = Q79_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2413]
2. (2) [Option ID = 2414]
3. (3) [Option ID = 2415]
4. (4) [Option ID = 2416]

Correct Answer :-
e (1) [Option ID = 2413]

If outside station limits, distance between two trains is .
meter or more, such occurrence may not be treated as averted
collision: -

(1) 600
(2) 500
(3) 400
(4) 250

i A WET & 96T, of MSal & &9 & gl . T
HfEe B Tt 39 P oo T8 A oI o

(1) 600
(2) 500
(3) 400
(4) 250

[Question ID = 605][Question Description = Q80_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2417]
2. (2) [Option ID = 2418]
3. (3) [Option ID = 2419]
4. (4) [Option ID = 2420]

Correct Answer :-
e (3) [Option ID = 2419]



81) .
"Smell of burning grease” is the symptom of?
(1) Seizure of roller bearing
(2) Brake binding
(3) Flattyre
(4) None of these

i S @1 7Y T e aam 82

(1) e d3ifar &1 & gl
(2) d% R

(3) wETER

@ sHaDE AR

[Question ID = 606][Question Description = Q81_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2421]
2. (2) [Option ID = 2422]
3. (3) [Option ID = 2423]
4. (4) [Option ID = 2424]

Correct Answer :-
e (1) [Option ID = 2421]

A decrease in net tonne kilometer per engine hours may be due
to?

(1) Increase in the proportion of unbalanced traffic

(2) Increase in the average starting wagon load

(3) Decrease in shunting engine hours

(4) Decrease in light engine running

3¢ e fpandier ufg 359 98 § &t &t aRo g 9dal o7

(1)  sfacives eftvm ot amn HafE
() g uRle T s 9l
(3) NfEmIwTHe H w
(4) rge so T H S

[Question ID = 607][Question Description = Q82_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2425]
2. (2) [Option ID = 2426]
3. (3) [Option ID = 2427]
4. (4) [Option ID = 2428]

Correct Answer :-
e (1) [Option ID = 2425]



83) Which among the following is net a mearnis of isolation?

(1) Sand hump

(2) Derailing swiich
(3) skid

(4) Snagdead end

F=fead ¥ @ @R SIgarderE o UiE e 82

(1) d=sm
@) Sitfem fEa
(3) fews
4) TSEES

[Question ID = 608][Question Description = Q83_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2429]
2. (2) [Option ID = 2430]
3. (3) [Option ID = 2431]
4. (4) [Option ID = 2432]

Correct Answer :-
® (3) [Option ID = 2431]

Which light of hand signal will be used by guard in night to inform
the loco pilot at the time of frain parting?

(1) Red

(2) Green

(3) White

(4) None of these

TS fAUeH g W d@! ugee ©f 951 o & fad e uE 5
59 ueR 31 St &1 Wae B2

(N g
2 =z
(3) Tl
@) HADs T

[Question ID = 609][Question Description = Q84_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2433]
2. (2) [Option ID = 2434]
3. (3) [Option ID = 2435]
4. (4) [Option ID = 2436]

Correct Answer :-
e (3) [Option ID = 2435]



85
) Transportation of Coal for power houses is categorized under

which category under priority schedule?
(1) Priority-A
{2) Prority-B
(3) Prionty-C
(4) Pronty-D

faerelt WX & fore ®igel & ufae & wufisar sl & 98a
fope guft & wifera fvan T g7

(1) urfFEmar-g
(2) urfEear-dl
(3) wyif@ar-
(4) wfEEdr-st

[Question ID = 610][Question Description = Q85_AOM_PA_NAIRJUNE23]
1. (1) [Option ID = 2437]
2. (2) [Option ID = 2438]
3. (3) [Option ID = 2439]
4. (4) [Option ID = 2440]

Correct Answer :-
® (3) [Option ID = 2439]

Topic:- AOM_PB_NAIRJUNE23

1
) Which Tennis player has been on the top of the ATP rankings

for maximum period?

(1) Novak Djokovic
(2) Rafael Nadal
(3) Roger Federer
(4) MNone of these

ﬁg%ﬁﬁ@a@aﬂﬁmmﬁﬁimqﬁﬁmﬁaﬂﬁm
EEdl

(1) Hiaws di@iag
(2) e ST
(3) IR B
(@) 98 A HE e

[Question ID = 611][Question Description = Q01_AOM_PB_NAIRJUNE23]
1. (1) [Option ID = 2441]
2. (2) [Option ID = 2442]
3. (3) [Option ID = 2443]
4. (4) [Option ID = 2444]

Correct Answer :-
e (1) [Option ID = 2441]



2) Which Indian Athlete is also known as 'Udan Pari'?
(1) Hima Das
(2) Dutee Chand
(3) PT.Usha
(4) None of these

g yrda vyelle & I W & AW 3 W W S a2

(1) femew
2) giw<
(3) didl 3w
(4) FHIDE TS

[Question ID = 612][Question Description = Q02_AOM_PB_NAIRJUNE23]
1. (1) [Option ID = 2445]
2. (2) [Option ID = 2446]
3. (3) [Option ID = 2447]
4. (4) [Option ID = 2448]

Correct Answer :-
® (3) [Option ID = 2447]

Which Indian Cricketer has also been President of BCCI?

(1) Sachin Tendulkar
(2) Sourav Ganguly
(3) Dilip Vengsarkar
(4) None of these

I T YRAY febdpex didiedian o1 arems of @ 9182

(1) s dsamx
(2) g et

(3) feeily dmaray
@) FHIDE A

[Question ID = 613][Question Description = Q03_AOM_PB_NAIRJUNE23]
1. (1) [Option ID = 2449]
2. (2) [Option ID = 2450]
3. (3) [Option ID = 2451]
4. (4) [Option ID = 2452]

Correct Answer :-
e (2) [Option ID = 2450]



4)
Which country has won the most World Cups in Football?

(1) Brazil

(2) Argentina

(3) France

(4) None of these

Bedia § Tad w61 gvs @Y [ard o=l - ST o7

() i
@ et
(3) wy

4) FHIAPRE

[Question ID = 614][Question Description = Q04_AOM_PB_NAIRJUNE23]
1. (1) [Option ID = 2453]
2. (2) [Option ID = 2454]
3. (3) [Option ID = 2455]
4. (4) [Option ID = 2456]

Correct Answer :-
e (1) [Option ID = 2453]

Who is the first Indian player to win an individual Gold in
Olympics?

(1) Meera] Chopra
(2) Abhinav Bindra
(3) Sushil Kumar
(4) None of these

STt & cafdmTa ol Sila- ard Ued YR Raers! H 2

(1) <e Fgst
(2) ¥ st

(B) wEiEzar
) FHIADE

[Question ID = 615][Question Description = Q05_AOM_PB_NAIRJUNE23]
1. (1) [Option ID = 2457]
2. (2) [Option ID = 2458]
3. (3) [Option ID = 2459]
4. (4) [Option ID = 2460]

Correct Answer :-
® (2) [Option ID = 2458]



6)
Vijender Singh 1s associated with which sporis?

(1) Boxing

(2) Wrastiling

(3) Archery

(4) None of these

el s g wadgs @2

(1) i
@) I
(3) ersh
4) FTHIDE T

[Question ID = 616][Question Description = Q06_AOM_PB_NAIRJUNE23]
1. (1) [Option ID = 2461]
2. (2) [Option ID = 2462]
3. (3) [Option ID = 2463]
4. (4) [Option ID = 2464]

Correct Answer :-
e (1) [Option ID = 2461]

The number of centuries made by Sachin Tendulkar in
International matches is?

(1) 99
(2) 100
3) 101

(4) None of these

e Ao g Sasisig Bl I &0 710 Iaw! @ S 82

(1) 99

(2) 100

@) 101

@) FHIBRE

[Question ID = 617][Question Description = Q07_AOM_PB_NAIRJUNE23]
1. (1) [Option ID = 2465]
2. (2) [Option ID = 2466]
3. (3) [Option ID = 2467]
4. (4) [Option ID = 2468]

Correct Answer :-
® (2) [Option ID = 2466]



‘Irani Trophy' is associated with which of the following game?

(1) Hockey
(2) Fooiball
(3) Cricket

(4) None of these

weH cimr Frafafaa 7 § fy da S deiia g2

(1) gt
@) pedia
@) fpwe
4) s A PSR

[Question ID = 618][Question Description = Q08_AOM_PB_NAIRJUNE23]
1. (1) [Option ID = 2469]
2. (2) [Option ID = 2470]
3. (3) [Option ID = 2471]
4. (4) [Option ID = 2472]

Correct Answer :-
e (3) [Option ID = 2471]

The number of Gold Medals won by India in Hockey in Olympics
till now are?

(1) 7
@ 8
(3 9
(4) None of these

%ﬁﬁﬁmﬁ%msﬁﬁmaﬁaﬁémmuﬂﬁaﬁm

(1 7
2 8
(3) 9

@) A DS

[Question ID = 619][Question Description = Q09_AOM_PB_NAIRJUNE23]
1. (1) [Option ID = 2473]
2. (2) [Option ID = 2474]
3. (3) [Option ID = 2475]
4. (4) [Option ID = 2476]

Correct Answer :-
® (2) [Option ID = 2474]



10
) The word 'Butterfly' is associated with which of the following

game?

(1) Kabaddi

(2) Kho-Kho

(3) Swimming

(4) None of these

e geUETS T 3 3 g g 9 gefa g0

(1) @adi
2) @
(3)

@) IHIHE TG

[Question ID = 620][Question Description = Q10_AOM_PB_NAIRJUNE23]
1. (1) [Option ID = 2477]
2. (2) [Option ID = 2478]
3. (3) [Option ID = 2479]
4. (4) [Option ID = 2480]

Correct Answer :-
e (3) [Option ID = 2479]

Which one of the following does not constitute the electoral
college for electing the President of India?

(1) Elected member of Lok Sabha
(2) Elected member of Rajya Sabha

(3) Elected members of the Legislative Assembly of each
state
(4) MNone of these

Fafefaq & 9 oF a1 e YRa & APuid & 9919 & o Faew

HEd @1 716 -l HIal 62

(1) e & FHalfad So

(2) Tgmyr & RalEd gee

(3) uds Uy ! [Bur wy & Peifd vew
) T IBE TG

[Question ID = 621][Question Description = Q11_AOM_PB_NAIRJUNE23]
1. (1) [Option ID = 2481]
2. (2) [Option ID = 2482]
3. (3) [Option ID = 2483]
4. (4) [Option ID = 2484]

Correct Answer :-
e (4) [Option ID = 2484]



12)
A person who is not a member of Parliament can be appointed
as a Minister by the President for a maximum period of?

(1) 3 months

(2) 9 months

(3) 12 months

(4) MNone of these

U SR ol G BT 965 o] 8, 39 Pl gR Sf¥eaH faas
afafd & fer it & w0 & Frgad e =1 waar g2

(1) 3\8H
2) o#gH
(3) 12784
@) SH I E

[Question ID = 622][Question Description = Q12_AOM_PB_NAIRJUNE23]
1. (1) [Option ID = 2485]
2. (2) [Option ID = 2486]
3. (3) [Option ID = 2487]
4. (4) [Option ID = 2488]

Correct Answer :-
® (4) [Option ID = 2488]

Who among the following can attend meetings of the Union
Cabmet?

(1) Cabinet Ministers
(2) Ministers of States

(3) Deputy Ministers
(4) None of these

FaftiiEd & @ o oy HEs Bl 93] § HIT o Jedl 82

(1) fame =R
(2) el & =t
(3) Syl _
4 AP TE

[Question ID = 623][Question Description = Q13_AOM_PB_NAIRJUNE23]
1. (1) [Option ID = 2489]
2. (2) [Option ID = 2490]
3. (3) [Option ID = 2491]
4. (4) [Option ID = 2492]

Correct Answer :-
e (1) [Option ID = 2489]



14) When was the Constitution of India implemented?
(1) 26th January, 1948
(2) 26th January, 1949
(3) 26ih January, 1850
(4) None of these

YR &1 Tl ®a A 531 ur?

(1) 26 Sasl, 1948
(2) 26 S=adl 1949
(3) 26 SHail 1950
4) FTHYBRE T

[Question ID = 624][Question Description = Q14_AOM_PB_NAIRJUNE23]
1. (1) [Option ID = 2493]
2. (2) [Option ID = 2494]
3. (3) [Option ID = 2495]
4. (4) [Option ID = 2496]

Correct Answer :-
e (3) [Option ID = 2495]

What is the sirength of the Public Accounts Committee?

(1) 10 from Lok Sabha and 5 from Rajya Sabha
(2) 15 from Lok Sabha and 7 from Rajya Sabha
(3) 15 from Lok Sabha and 10 from Rajya Sabha
{(4) None of these

Wiy ST G & gel & U o g2

(1) 10 SreTHT Y 3K 5 Togaur g
(2) 15 QT H 30T 7 TeaaHT g
(3) 15 AHEEHTY 3T 10 THTHT H

4) AR

[Question ID = 625][Question Description = Q15_AOM_PB_NAIRJUNE23]
1. (1) [Option ID = 2497]
2. (2) [Option ID = 2498]
3. (3) [Option ID = 2499]
4. (4) [Option ID = 2500]

Correct Answer :-
e (2) [Option ID = 2498]



16) Quit India Movement was launched in response t0?
(1) Simon Commission Report
(2) Rowlait Act
(3) Cripps Proposals
{(4) None of these

YR DSl aiad eyl uffdrm F =samr mar 42

(1) wEaT HeEE R
(2) e uae

(3) fopee wear@

4) FTHIDE T

[Question ID = 626][Question Description = Q16_AOM_PB_NAIRJUNE23]
1. (1) [Option ID = 2501]
2. (2) [Option ID = 2502]
3. (3) [Option ID = 2503]
4. (4) [Option ID = 2504]

Correct Answer :-
e (3) [Option ID = 2503]

7 The state of Bengal was pariitioned by Lord Curzon in the year?
(1) 1905
(2) 1906
(3) 1911

(4) None of these

TS doi= GRT STTel ¥y 1 fAuTe o g e 7y yi2

(1) 1905
(2) 1906
(3) 1911
(4) T A B T

[Question ID = 627][Question Description = Q17_AOM_PB_NAIRJUNE23]
1. (1) [Option ID = 2505]
2. (2) [Option ID = 2506]
3. (3) [Option ID = 2507]
4. (4) [Option ID = 2508]

Correct Answer :-
e (1) [Option ID = 2505]



18) Indian National Congress was eslablished in the year?
(1) 1869
(2) 1885
(3) 1889
(4) MNone of these

RGP S @t wET o ad g3 e

(1) 1869
(2) 1885
(3) 1889

@) FHITE T

[Question ID = 628][Question Description = Q18_AOM_PB_NAIRJUNE23]
1. (1) [Option ID = 2509]
2. (2) [Option ID = 2510]
3. (3) [Option ID = 2511]
4. (4) [Option ID = 2512]

Correct Answer :-
® (2) [Option ID = 2510]

Who was the Gandhi's nominee defeated by Subhash Chandra
Bose for the presidentship of the Congress in 1938?

(1) Pattabhi Sitharamayya
(2) Abul Kalam Azad

(3) S Snnivasa lyengar
(4) None of these

1939 H HIUH & A& UG o (078 GHIY I% T FRT URIfor T
T IGaR D 47

(1) ey diarman
(2) T B S
(3) uy. diRay ETR
(4) = S oig el

[Question ID = 629][Question Description = Q19_AOM_PB_NAIRJUNE23]
1. (1) [Option ID = 2513]
2. (2) [Option ID = 2514]
3. (3) [Option ID = 2515]
4. (4) [Option ID = 2516]

Correct Answer :-
e (1) [Option ID = 2513]



20) The battle of Plassey was fought in?

(1) 1757
() 1747
(3) 1764

(4) None of these

Il &1 G S asl Tl UI?
(1) 1757
(2) 1747
(3) 1764

(@) =wIeE

[Question ID = 630][Question Description = Q20_AOM_PB_NAIRJUNE23]
1. (1) [Option ID = 2517]
2. (2) [Option ID = 2518]
3. (3) [Option ID = 2519]
4. (4) [Option ID = 2520]

Correct Answer :-
e (1) [Option ID = 2517]

Tulsidas the author of Ramchantmanas, was a contempaorary of
which of the following Rulers?

(1) Akbar

(2) Humayun

{3) Shahjahan

(4) None of these

AR °AFE & ads gadier, Rafafad 7 9 feow owe &
HaETE 42

(1) s@w

@ g
(3) SMEwwE!
@) = IDE TS

[Question ID = 631][Question Description = Q21_AOM_PB_NAIRJUNE23]
1. (1) [Option ID = 2521]
2. (2) [Option ID = 2522]
3. (3) [Option ID = 2523]
4. (4) [Option ID = 2524]

Correct Answer :-
e (1) [Option ID = 2521]



22
) The Radcliffe line is a boundary between?
(1) India and Pakistan
(2) India and China
(3) India and Myanmar
(4) None of these

LEidaw war fous da @ e 2

(1) YR iR nfsE
(2) yRgARd=
(3) YRd IR AR

@) Y BIS T

[Question ID = 632][Question Description = Q22_AOM_PB_NAIRJUNE23]
1. (1) [Option ID = 2525]
2. (2) [Option ID = 2526]
3. (3) [Option ID = 2527]
4. (4) [Option ID = 2528]

Correct Answer :-
e (1) [Option ID = 2525]

The fallowing monsoon confributes most of the rains in India?

(1) South Westemn
(2) North Eastern
(3) North Westemn
(4) None of these

frrafefad A yRa & siftiesie auf F gier gar 32

(1) oy afied
@) IR

(3) Soxui
(4) T FIE S

[Question ID = 633][Question Description = Q23_AOM_PB_NAIRJUNE23]
1. (1) [Option ID = 2529]
2. (2) [Option ID = 2530]
3. (3) [Option ID = 2531]
4. (4) [Option ID = 2532]

Correct Answer :-
e (1) [Option ID = 2529]



24) Which atomic power station in India is bulll completely

indigenously?

(1) Kalpakkam
(2) Marora

(3) Rawatbhata
(4) MNone of these

ﬁﬁﬁﬂﬂﬂﬁﬁf@?@ﬁﬁﬁﬁ%ﬁﬁﬂ%m
i i

(1) Houssd
(2) |’
(3) Tadyrer

4) THIFE Tl

[Question ID = 634][Question Description = Q24_AOM_PB_NAIRJUNE23]
1. (1) [Option ID = 2533]
2. (2) [Option ID = 2534]
3. (3) [Option ID = 2535]
4. (4) [Option ID = 2536]

Correct Answer :-
e (1) [Option ID = 2533]

Which of the follewing important nvers of India does not
arnginate from the Western Ghats?

(1) Kaven

(2) Godavari

(3) Krishna

(4) None of these

yRd @ FefdiEa 8 9 o4 9 geagd A4 ofid e ¥ a7
ECANGINY,
(1) At

@ eEd

(3) @
@) A B

[Question ID = 635][Question Description = Q25_AOM_PB_NAIRJUNE23]
1. (1) [Option ID = 2537]
2. (2) [Option ID = 2538]
3. (3) [Option ID = 2539]
4. (4) [Option ID = 2540]

Correct Answer :-
® (4) [Option ID = 2540]



26
) When itis noan IST at Allahabad in India, the time at Greenwich,

London, will be?

(1) Midnight, GMT
(2) 17:30 hours
(3) 06:30 hours
(4) None of these

W HRd # geerG # e g et ®, | diA, de # e
g7

(1) fosarge, ofiuad
(2) 1730ed
(3) 06:30 T

4) FHIE DR

[Question ID = 636][Question Description = Q26_AOM_PB_NAIRJUNE23]
1. (1) [Option ID = 2541]
2. (2) [Option ID = 2542]
3. (3) [Option ID = 2543]
4. (4) [Option ID = 2544]

Correct Answer :-
e (3) [Option ID = 2543]

Carbon, diamond and graphite are together called?

(1) Allotropes

(2) Isomers

(3) Isomorphs

(4) None of these

e, TR SR UBEE & (HaH o1 Sl il 872

(1) udic

(2) sz

(3) snzHER
) s ADE TRl

[Question ID = 637][Question Description = Q27_AOM_PB_NAIRJUNE23]
1. (1) [Option ID = 2545]
2. (2) [Option ID = 2546]
3. (3) [Option ID = 2547]
4. (4) [Option ID = 2548]

Correct Answer :-
e (1) [Option ID = 2545]



28) The first chairman of Atomic Energy Commission was?
(1) H.J Bhabha
(2) Vikram Sarabhai
(3) CNV_Raman
(4) MNone of these

TR Fol! ST o UgE e 472

(1) waS, yryr
) fowpm IR
(3 dd =
@ IS TE

[Question ID = 638][Question Description = Q28_AOM_PB_NAIRJUNE23]
1. (1) [Option ID = 2549]
2. (2) [Option ID = 2550]
3. (3) [Option ID = 2551]
4. (4) [Option ID = 2552]

Correct Answer :-
e (1) [Option ID = 2549]

Name the Governor General who abolished the Sati Pratha in
18297

(1) Lord Clive

(2) Lord Dalhousie

(3) Lord William Bentinck
(4) Noneof these

1829 H il w1 & THIE S 9IS TGHR SRS BT TH Fdia?

(1) @re FEg

@) @i sage

(3) e faftmmaits
@) sHIASE T

[Question ID = 639][Question Description = Q29_AOM_PB_NAIRJUNE23]
1. (1) [Option ID = 2553]
2. (2) [Option ID = 2554]
3. (3) [Option ID = 2555]
4. (4) [Option ID = 2556]

Correct Answer :-
® (3) [Option ID = 2555]



30) The Yellowstone National Park is situated in?

(1) USA
(2) Canada
(3) Russia

(4) None of these

(1) yuay
(2) wa1ST
(3 ==

(4) = B e

[Question ID = 640][Question Description = Q30_AOM_PB_NAIRJUNE23]
1. (1) [Option ID = 2557]
2. (2) [Option ID = 2558]
3. (3) [Option ID = 2559]
4. (4) [Option ID = 2560]

Correct Answer :-
e (1) [Option ID = 2557]

Who founded the Indian Statistical Institute on 17 Dec 193172

(1) P.C. Mahalanobis
(2) R.A Fischer

(3) F. Yates

(4) None of these

17 ediaT 1931 &t yidy gifere! S of wnar faa of e

(1) df gemfw
(2) amu fhar
(3) ue. i

(4) ZTTH T B el

[Question ID = 641][Question Description = Q31_AOM_PB_NAIRJUNE23]
1. (1) [Option ID = 2561]
2. (2) [Option ID = 2562]
3. (3) [Option ID = 2563]
4. (4) [Option ID = 2564]

Correct Answer :-
e (1) [Option ID = 2561]



32) Who was the first Indian to win All England Badminton

Championship?

(1) Prakash Padukone
(2) Saina Nehwal
(3) P.Gopichand
{(4) None of these

3iic Sie Seiicd SaRY Sidd 91 Usd HRda B9 42

(1) UT=T gigeor
(2) wEr-gaa
(3) di dEg
4) FHADE TRl

[Question ID = 642][Question Description = Q32_AOM_PB_NAIRJUNE23]
1. (1) [Option ID = 2565]
2. (2) [Option ID = 2566]
3. (3) [Option ID = 2567]
4. (4) [Option ID = 2568]

Correct Answer :-
e (1) [Option ID = 2565]

Between whom did the third battle of Panipal take place?

(1) Akbar & Hemu

(2) Ahmad Shah Abdali & Maratha
(3) Babur & lbrahim Lodi

{(4) None of these

uritE @ dredt Ter feas dia g oo

(1)  3/@ey 3R FY

(2) 3EHE IS MeETe 3R 8T
(3) 9T 3R SaIeE aidl

4 TS Tl

[Question ID = 643][Question Description = Q33_AOM_PB_NAIRJUNE23]
1. (1) [Option ID = 2569]
2. (2) [Option ID = 2570]
3. (3) [Option ID = 2571]
4. (4) [Option ID = 2572]

Correct Answer :-
e (2) [Option ID = 2570]



34
) If the PH value of any type of soil is 10, then the soil will be

considered as?

(1) Acidic

{(2) NMeutral

(3) Alkaline

(4) None of these

ofe; foredt var @t gt @1 PH T 10 91 o 9% firgh |l smote

(1) i
) TerdH
3) arfl
4) AU DI ALl

[Question ID = 644][Question Description = Q34_AOM_PB_NAIRJUNE23]
1. (1) [Option ID = 2573]
2. (2) [Option ID = 2574]
3. (3) [Option ID = 2575]
4. (4) [Option ID = 2576]

Correct Answer :-
® (3) [Option ID = 2575]

Nandadevi peak is located in which state?

(1) Sikkim

(2) Himachal Pradesh
(3) Uttrakhand

{(4) None of these

Jeredl 9t g T § R 2

(1) FafEsw
(2) fRo=auce
(3) ImEs

4) T A BT e

[Question ID = 645][Question Description = Q35_AOM_PB_NAIRJUNE23]
1. (1) [Option ID = 2577]
2. (2) [Option ID = 2578]
3. (3) [Option ID = 2579]
4. (4) [Option ID = 2580]

Correct Answer :-
e (3) [Option ID = 2579]



36
) Silent Valley National Park is located in which state of India?
(1) West Bengal
(2) Kerala
(3) Uttrakhand
(4) None of these

TIgTiC dell e Ulh WA o [ Tog 1 [RUd 52

(1) ulgm s
(2) S
(3) IwWEs

(4) T A DI 0

[Question ID = 646][Question Description = Q36_AOM_PB_NAIRJUNE23]
1. (1) [Option ID = 2581]
2. (2) [Option ID = 2582]
3. (3) [Option ID = 2583]
4. (4) [Option ID = 2584]

Correct Answer :-
® (2) [Option ID = 2582]

What is the literacy raie in India as per 2011 census?

(1) 74%
(2) 70%
(3) 68%
(4) None of these

2011 D TP & SR HIRd § TeRar ox feai o2

(1) 74%
@) 70%
(3) 68%

@) FHYBRE T

[Question ID = 647][Question Description = Q37_AOM_PB_NAIRJUNE23]
1. (1) [Option ID = 2585]
2. (2) [Option ID = 2586]
3. (3) [Option ID = 2587]
4. (4) [Option ID = 2588]

Correct Answer :-
e (1) [Option ID = 2585]



38)
Coking Coal is a vital input in which of the following indusiry?

(1) Sponge Iron making
(2) Copper smelting

(3) Steel making
(4) MNoneof these

fofafea & feg 5gm & ST $id 0@ Heaqy 39E 82

(1) S 3O -1
(2) S T

() Waen

(4) AP Al

[Question ID = 648][Question Description = Q38_AOM_PB_NAIRJUNE23]
1. (1) [Option ID = 2589]
2. (2) [Option ID = 2590]
3. (3) [Option ID = 2591]
4. (4) [Option ID = 2592]

Correct Answer :-
e (3) [Option ID = 2591]

Who is the Director of the film RRR, whose song won the Oscar
Award in 20237

(1) S8 Rajamauli
(2) Maniratnam
(3) 5. Shankar
(4) None of these

fibeg 3MRAM3IR & Moy &F ¢ /g 3 2023 § 3R
R il 87

(1) woo e
(2) wHiReH
(3) Uy o

4) FHIBE T

[Question ID = 649][Question Description = Q39_AOM_PB_NAIRJUNE23]
1. (1) [Option ID = 2593]
2. (2) [Option ID = 2594]
3. (3) [Option ID = 2595]
4. (4) [Option ID = 2596]

Correct Answer :-
e (1) [Option ID = 2593]



40
) Which country has recently banned domestic flights for journeys

that are possible in less than two and half hours by Train?

(1) Spain
{(2) Germany
(3) France

(4) None of these

fpacragad AT o Ut S oF THg 4 8 ardl aEmei &
ferg g oMl TR uiaes o f&ar g7

(1 @wq
(2) S
(3) Wiy

4) ARl

[Question ID = 650][Question Description = Q40_AOM_PB_NAIRJUNE23]
1. (1) [Option ID = 2597]
2. (2) [Option ID = 2598]
3. (3) [Option ID = 2599]
4. (4) [Option ID = 2600]

Correct Answer :-
e (3) [Option ID = 2599]

Who is called an employee proficient in Hindi?

(1) Knowledge of Hindi at primary level

(2) Passed Primary Level Exam in Hindi Medium

(3) Knowledge of Hindi at matriculation level

(4) Matriculation Level Exam Passed in Hindi Medium

el & diordr Una SHER] oy ST oid o2

(1) g &R R Bl &1 3F
(2)  rAd wR B! e Fd e 8 gl
(3) Aftd R Bt sram
(4) Afte wx o gden B a9 Siid

[Question ID = 651][Question Description = Q41_AOM_PB_NAIRJUNE23]
1. (1) [Option ID = 2601]
2. (2) [Option ID = 2602]
3. (3) [Option ID = 2603]
4. (4) [Option ID = 2604]

Correct Answer :-
® (4) [Option ID = 2604]



42) Which Is the foreign language included in the Eighth Schedule?
{1) Nepali
(2) Persian
(3) English
(4) None of these

el seE! F wnfie f[AEsfh v &= 9 32

(1) =it
2 wRr
(3) sl
@) FHADE T

[Question ID = 652][Question Description = Q42_AOM_PB_NAIRJUNE23]
1. (1) [Option ID = 2605]
2. (2) [Option ID = 2606]
3. (3) [Option ID = 2607]
4. (4) [Option ID = 2608]

Correct Answer :-
e (1) [Option ID = 2605]

Who is the chairman of Railway Board Official Language
Implementation Commitiee?

(1) Minister of Railways

(2) Pnme Minister

(3) Chairman and CEO, Railway Board
(4) None of these

oA AiS ST SR S & e S ol 67

(1) e

(2) wemEEAT

(3) wuRAA ud digaen, Yad /i
(4) A8 AP T

[Question ID = 653][Question Description = Q43_AOM_PB_NAIRJUNE23]
1. (1) [Option ID = 2609]
2. (2) [Option ID = 2610]
3. (3) [Option ID = 2611]
4. (4) [Option ID = 2612]

Correct Answer :-
e (3) [Option ID = 2611]



44
) Who is the chairman of Central Hindi Committee?

(1) Home Minister
(2) Prime Minister
(3) Railway Minister
(4) None of these

I RIS sy s AT

(1) TR
(2) wem=EAl
(3) vaw
(4) T A BS TR

[Question ID = 654][Question Description = Q44_AOM_PB_NAIRJUNE23]
1. (1) [Option ID = 2613]
2. (2) [Option ID = 2614]
3. (3) [Option ID = 2615]
4. (4) [Option ID = 2616]

Correct Answer :-
® (2) [Option ID = 2614]

Forwhat purpose Lal Bahadur Shastn Takaniki Maulik Lekhan
Award Is given?

(1) To write books in Hindi literature

(2) To write technical books in Hindi on railway subjects
(3) For story/story collection and novel writing

{4) None of these

mgﬁv@maﬁﬁ%w R g 3exg 9 e
ST

(1) fe< wifewy & g&d forgn

(2) ed f9ugl ox el & ab-id) Ui forg
(3) Py/DEH! HUE Ud IUUE oEF Bd

(4) A @S TR

[Question ID = 655][Question Description = Q45_AOM_PB_NAIRJUNE23]
1. (1) [Option ID = 2617]
2. (2) [Option ID = 2618]
3. (3) [Option ID = 2619]
4. (4) [Option ID = 2620]

Correct Answer :-
e (2) [Option ID = 2618]



46) How many members of Rajya Sabha are there in committee of

Parliament of Official Language?

(1) 10

2 7

(3) 15

(4) MNone of these

Tudig e SR o e gy & feds gew g 82

(1) 10
@ 7
(3 15

(4) TFaFE e

[Question ID = 656][Question Description = Q46_AOM_PB_NAIRJUNE23]
1. (1) [Option ID = 2621]
2. (2) [Option ID = 2622]
3. (3) [Option ID = 2623]
4. (4) [Option ID = 2624]

Correct Answer :-
e (1) [Option ID = 2621]

How many sections are there in the Ofiicial Language Act,
19637

(1) 8

(2 9

{3) 10

(4) None of these

T 2T, 1963 S S B URi g2

(1) 8
2 9
(3 10

@) T T

[Question ID = 657][Question Description = Q47_AOM_PB_NAIRJUNE23]
1. (1) [Option ID = 2625]
2. (2) [Option ID = 2626]
3. (3) [Option ID = 2627]
4. (4) [Option ID = 2628]

Correct Answer :-
® (2) [Option ID = 2626]



48) In which language is there a provision to give the documents

related to disciplinary proceedings to the employee?

(1) Regional Language

(2) Hindi

(3) Hindi or English - in which the employee wants
(4) None of these

SFERHS Frde! Sael uoe SHER @ G i A Qe S

T WTHH 82

(1) &l vy

2) fdt

(3) TRt oy it - et foad gmar el
@) A9 QB T

[Question ID = 658][Question Description = Q48_AOM_PB_NAIRJUNE23]
1. (1) [Option ID = 2629]
2. (2) [Option ID = 2630]
3. (3) [Option ID = 2631]
4. (4) [Option ID = 2632]

Correct Answer :-
e (3) [Option ID = 2631]

Whao is the chairman of the Zonal Railway Official Language
Implementation Commitiee?

(1) General Manager

(2) Addi. General Manager
(3) Chief Rajbhasha Officer
(4) None of these

&t YR yov safara o & smg P e e

(1) HewEyD

(2) SR HgWEUR

(3) Ty ey R
(4) zAF T @E g

[Question ID = 659][Question Description = Q49_AOM_PB_NAIRJUNE23]
1. (1) [Option ID = 2633]
2. (2) [Option ID = 2634]
3. (3) [Option ID = 2635]
4. (4) [Option ID = 2636]

Correct Answer :-
e (1) [Option ID = 2633]



50
) What is the introductory course for central governmeni

employees?

(1) Praveen

(2) Prabodh

(3) Pragva

(4) None of these

F= GIHR & HHANG! & 2T WREIS UieushH i 91 22

(1) wdto
(2) way
(3) s
(4) R ADE AT

[Question ID = 660][Question Description = Q50_AOM_PB_NAIRJUNE23]
1. (1) [Option ID = 2637]
2. (2) [Option ID = 2638]
3. (3) [Option ID = 2639]
4. (4) [Option ID = 2640]

Correct Answer :-
e (2) [Option ID = 2638]

In which language order are the announcements to be made at
railway stations?

(1) Local, Hindi, English
(2) Regional, English, Hindi
(3) Regional, Hindi, English
(4) None of these

Yed T O Igumon forg oeT 5 H St ST 82

(1) g, R, st
(2) wrcfe, s, e
) el &, sich
@) g A oig e

[Question ID = 661][Question Description = Q51_AOM_PB_NAIRJUNE23]
1. (1) [Option ID = 2641]
2. (2) [Option ID = 2642]
3. (3) [Option ID = 2643]
4. (4) [Option ID = 2644]

Correct Answer :-
e (3) [Option ID = 2643]



52
) Who does the translation of statutory rules, regulations and

orders as per the constitution?

(1) Home Ministry

(2) Ministry of Law

(3)  Ministry of Railways
(4) None of these

wfgers & IR wifafte Fol, AFmEf s smearf @ sraEE
@I Bl 82

(1) 78 H=aT
2) fafy darem
(3) Y@ HaAIeg

4) THIBE A

[Question ID = 662][Question Description = Q52_AOM_PB_NAIRJUNE23]
1. (1) [Option ID = 2645]
2. (2) [Option ID = 2646]
3. (3) [Option ID = 2647]
4. (4) [Option ID = 2648]

Correct Answer :-
e (2) [Option ID = 2646]

For whom is the Rajbhasha Individual Cash Award Scheme
prescribed?

(1) Foremployees
(2) For Officers
(3) For officers up to Junior Adminisirative Grade and non-

gazetted categories
(4) For Senior Administrative Grade Officers

TSTHTNT A fGTa ATdhG QR ger fead forg Fuffa g2

(1) SeaiE & fom
(2)  arferpriedl & fag.
(3) e ymaie 9 g9a & st gur srreafEd anif

@ T
(4) aftrs umalis 9 & aftefE & fim

[Question ID = 663][Question Description = Q53_AOM_PB_NAIRJUNE23]
1. (1) [Option ID = 2649]
2. (2) [Option ID = 2650]
3. (3) [Option ID = 2651]
4. (4) [Option ID = 2652]

Correct Answer :-
® (3) [Option ID = 2651]



>4) Hindi Salahkar Samiti 1s constituted in which minisiry?
(1) In all ministries
(2) In the Minisiry of Home Affairs
(3) In the Minisiry of Education
(4) In the Ministry of Finance

fect TomeeR Sl e wnag & 1iea of Sd) 82

(1) i iz J
(2) TBEATYH
(3) faren wemey |
(4) fda HareEm |

[Question ID = 664][Question Description = Q54_AOM_PB_NAIRJUNE23]
1. (1) [Option ID = 2653]
2. (2) [Option ID = 2654]
3. (3) [Option ID = 2655]
4. (4) [Option ID = 2656]

Correct Answer :-
e (1) [Option ID = 2653]

What is the amount of the first prize under the Rail Travelogue
Award Scheme?

(1) Rs.B000/- and citation
(2) Rs.B000/-and citation
(3) Rs.10000/- and citation
(4) None of these

gwmmwﬂmﬁimwwﬁmw

(1) % 8000/ Td U=kl ua
(2) ¥ 6000/- Td TR T3
(3) ¥ 10000/- U8 g od

4) T I B TR

[Question ID = 665][Question Description = Q55_AOM_PB_NAIRJUNE23]
1. (1) [Option ID = 2657]
2. (2) [Option ID = 2658]
3. (3) [Option ID = 2659]
4. (4) [Option ID = 2660]

Correct Answer :-

® (3) [Option ID = 2659]

Topic:- AOM_PC_NAIRJUNE23



" What is the full form of PRAN? How many digits does a PRAN

number have?

(1) Permanent Retirement Account Number ; 12
(2) Provident Retirement Account Number | 12

(3) Permanant Railway Account Number ; 14

(4) Permanent Railwaymen's Account Number ; 12

PRAN @1 Ul 30 91 3?2 PRAN -ia¢ & fooa 3iw gid &7

(1) waFe RemRde s@ee 38t 12
(2) uifede enrde s@de A4 - 12
(3) YIHME ¥6d HIC A8 - 14

(4) TREME YGOH AFHRIC A6 ; 12

[Question ID = 666][Question Description = Q01_AOM_PC_NAIRJUNE23]
1. (1) [Option ID = 2661]
2. (2) [Option ID = 2662]
3. (3) [Option ID = 2663]
4. (4) [Option ID = 2664]

Correct Answer :-
e (1) [Option ID = 2661]

What is upper imit of child care leave for Railway employees for
Child Care Leave?

(1) 365 days

(2) B0 days

(3) 730 days

(4) None of these

R urEA saET (AEes B dig) & ey SFH dimr

i
(1) 365
(2 gofe
(3) 730fea

@) =aHAHS T8

[Question ID = 667][Question Description = Q02_AOM_PC_NAIRJUNE23]
1. (1) [Option ID = 2665]
2. (2) [Option ID = 2666]
3. (3) [Option ID = 2667]
4. (4) [Option ID = 2668]

Correct Answer :-
® (3) [Option ID = 2667]



3
) Which Authority is empowered to order for cut in Pension of

Retired Railway Servant under DAR proceedings?

(1) DRM

(2) GM

{(3) President of India
(4) None of these

SR wrHael & ded YalHae Xd Yad @i ULH 8 deldl @l
LT & & o S wifiad 82

(1) dea @ uEus
(2) HEmEuD

(3) HRd & Iscafa
4) TIPS TR

[Question ID = 668][Question Description = Q03_AOM_PC_NAIRJUNE23]
1. (1) [Option ID = 2669]
2. (2) [Option ID = 2670]
3. (3) [Option ID = 2671]
4. (4) [Option ID = 2672]

Correct Answer :-
e (3) [Option ID = 2671]

Who can allow for personal hearing in major penalty cases?

(1) Appellate Authority
(2) Appointing Authority
(3) Disciplinary Authority
(4) MNone of these

&tel & HEl # cafgana Gars & SigHfd BiF ¢ Tl 87

(1) 3ydietia mfdemd
) Ffda e
(3) S widsHT
4) FFE TSR

[Question ID = 669][Question Description = Q04_AOM_PC_NAIRJUNE23]
1. (1) [Option ID = 2673]
2. (2) [Option ID = 2674]
3. (3) [Option ID = 2675]
4. (4) [Option ID = 2676]

Correct Answer :-
e (1) [Option ID = 2673]



5
) What is the maximum period of suspension thalt can be

extended at a time after review of the Competent Authority?

(1) 120 days
(2) 150 days
(3) 180 days
(4) None of these

Trcea &t ifiean 2Ef et § o9 gem wfaer! & geten
@ 91G Ueh R H Sl &l gl o2

(1) 120fe3
@ 150fe=
(3) 1s0fe
@) FTEIAHE IR

[Question ID = 670][Question Description = Q05_AOM_PC_NAIRJUNE23]
1. (1) [Option ID = 2677]
2. (2) [Option ID = 2678]
3. (3) [Option ID = 2679]
4. (4) [Option ID = 2680]

Correct Answer :-
e (3) [Option ID = 2679]

What is the minimum period of Child Care Leave fo be
considered for sanction to a female Govermment servant?

(1) 10 days

(2) 5days

(3) 20 days

(4) Noneof these

oE Afgdl Wil HHAR] & G5es Ha oid @t Aol &
faar @ Wi arcil arges $aR ©id &1 gHay Hald &1 82

() 10fA
2 sfaa
(3 20f=
4) FHIDRE T

[Question ID = 671][Question Description = Q06_AOM_PC_NAIRJUNE23]
1. (1) [Option ID = 2681]
2. (2) [Option ID = 2682]
3. (3) [Option ID = 2683]
4. (4) [Option ID = 2684]

Correct Answer :-
e (2) [Option ID = 2682]



7
) What is the penalty per day to be imposed against a Central

Public Information Officer for giving misleading information?

(1) Rs. 100 per day
(2) Rs. 250 perday
(3) Rs. 500 per day
(4) None of these

YA & & fau vw &l die g et & fEans
u%ﬁ%@wwmm@

(1) % 1ooufafes
(2) = 250ufgfea
(3) = soouffes

4) =Y HE el

[Question ID = 672][Question Description = Q07_AOM_PC_NAIRJUNE23]
1. (1) [Option ID = 2685]
2. (2) [Option ID = 2686]
3. (3) [Option ID = 2687]
4. (4) [Option ID = 2688]

Correct Answer :-
® (2) [Option ID = 2686]

What is the time period for transfer of application to cther Public
Authenty for request of information under Section 6(3) of the RTI
Act?

(1) 1day
(2) 2days
(3) 5days
(4) 10 days

RT3 A gg @ URT 6(3) & dod I & SRR & fau
m§wm%wwwmmmwmmwﬂ
T ?

(N 1=
() 2=
(3) s5fe=
4) 10 &=

[Question ID = 673][Question Description = Q08_AOM_PC_NAIRJUNE23]
1) [Option ID = 2689]

2. (2) [Option ID = 2690]

3. (3) [Option ID = 2691]

4. (4) [Option ID = 2692]

Correct Answer :-
e (3) [Option ID = 2691]



%) In case of availing child care leave, the age of dependent

disabled children should be up to—.

(1) 18 years
(2) 25 years
(3) 22years
(4) No limit

A15es A Tilg o i Rufd 3 snfsa Feed a=af o ey ———
d ginl diigul

(1) 199
(2) 25499
(3) z2ad
(4) w1 g el

[Question ID = 674][Question Description = Q09_AOM_PC_NAIRJUNE23]
1. (1) [Option ID = 2693]
2. (2) [Option ID = 2694]
3. (3) [Option ID = 2695]
4. (4) [Option ID = 2696]

Correct Answer :-
e (4) [Option ID = 2696]

Who is the custodian of listed documents in a Deparimental
Enquiry?

(1) Presenting Officer
(2) Defence Assistant
(3) Inguiry Officer
(4) MNoneof these

fqunia s & adivs o @ e & gidl 87
(1) uEgdsal HaSRI

(2) o949 gga®
(3) uig fUBRt
(49 THIBE T

[Question ID = 675][Question Description = Q10_AOM_PC_NAIRJUNE23]
1. (1) [Option ID = 2697]
2. (2) [Option ID = 2698]
3. (3) [Option ID = 2699]
4. (4) [Option ID = 2700]

Correct Answer :-
e (1) [Option ID = 2697]



L Who will take a decision whether the charges have been

established before passing final orders?

(1) Disciplinary Authority
(2) Inguiry Officer

(3) Presenting Officer
(4) MNone of these

sifam emcw uifta & 9 usd ge vl & o & eamiu g
BUT T

(1)  arRmEHT UiEER
(2) g e
(3) wgddl Sifg@R
(4) Y IE TE

[Question ID = 676][Question Description = Q11_AOM_PC_NAIRJUNE23]
1. (1) [Option ID = 2701]
2. (2) [Option ID = 2702]
3. (3) [Option ID = 2703]
4. (4) [Option ID = 2704]

Correct Answer :-
e (1) [Option ID = 2701]

Railway Services (Conduct) Rules, were passed in?

(1) 1989
(2) 1966
(3) 1961
(4) 1987

IEd AT SR T & i fee e

(1) 1989
(2) 1966
(3) 1961
(4) 1987

[Question ID = 677][Question Description = Q12_AOM_PC_NAIRJUNE23]
1. (1) [Option ID = 2705]
2. (2) [Option ID = 2706]
3. (3) [Option ID = 2707]
4. (4) [Option ID = 2708]

Correct Answer :-
e (2) [Option ID = 2706]



13) The penod of matemnity leave on account of miscamage /

abortion should be restricted o days durning the entire
service.

(1) 180 days

(2) 30 days

(3) 45 days

(4) None of these

mifora & o TIgd aHT T 9al & G Siemad fhad 6
BT ad g

(1) 180
(2) 30fea
(3) 4s5fea
4) s IHE TR

[Question ID = 678][Question Description = Q13_AOM_PC_NAIRJUNE23]
1. (1) [Option ID = 2709]
2. (2) [Option ID = 2710]
3. (3) [Option ID = 2711]
4. (4) [Option ID = 2712]

Correct Answer :-
e (3) [Option ID = 2711]

Which part of THE RAILWAY SERVANTS (DISCIPLINE &
APPEAL) RULES, 1988 gives details of major and minor
penaliies?

(1) Partl
) Partll
(3) Partlil
(4) Part IV

I Y (SRIE MR aidien Frm, 1968 S1 a1 |1 4 4 &R
TH 53 B [Gav9T &al 87

(1) 4
2 wr
3
4) urEIv

[Question ID = 679][Question Description = Q14_AOM_PC_NAIRJUNE23]
1. (1) [Option ID = 2713]
2. (2) [Option ID = 2714]
3. (3) [Option ID = 2715]
4. (4) [Option ID = 2716]

Correct Answer :- Deleted



15) Where appointing authority are not available, who should be

treated as Appointing Authority?

(1) Controlling Officer

(2) DRM
(3) GM
(4) CPO

Sl fgfda miteRt Suess =8 8, agi Fafdd uitied & wu
&9 gETaET Fige 7

(1) T A

(2) TEe I UEYED

(3) wHEmEYD

(4) T FIits ifEm

[Question ID = 680][Question Description = Q15_AOM_PC_NAIRJUNE23]
1. (1) [Option ID = 2717]
2. (2) [Option ID = 2718]
3. (3) [Option ID = 2719]
4. (4) [Option ID = 2720]

Correct Answer :-
e (3) [Option ID = 2719]

Recognised Trade Union official can be allowed to act as
defence counsel in DAR cases in .. numbers of cases.

(1) 2 numbers of cases
(2) 3 numbers of cases
(3) 5 numbers of cases
(4) Any number of cases

HIFIA] U €8 GG USR] SI SR HiFl H &g s &
oI & T4 1 B B3 B AN .o g d o o 9@ o

(1) 27maiH
(2) 3Amaid
(3) sHmAH
(4) T Sigmad

[Question ID = 681][Question Description = Q16_AOM_PC_NAIRJUNE23]
1. (1) [Option ID = 2721]
2. (2) [Option ID = 2722]
3. (3) [Option ID = 2723]
4. (4) [Option ID = 2724]

Correct Answer :-
e (4) [Option ID = 2724]



17
) What is a Budget?

(1) Astatement of receipts and payments incurred in a year
(2) A statement of appropnation of funds
(3) A record of all expenses made

(4) Astatement of estimated receipis and expenditure of the
Government

Telc & g7

(1) uew af & wiftea! iR e @ faawor

(2) fAfemt & fafmm @ faawor

(3) fru T T o @

(4) WHR DI srgEfia witem! 3k o7 & i

[Question ID = 682][Question Description = Q17_AOM_PC_NAIRJUNE23]
1. (1) [Option ID = 2725]
2. (2) [Option ID = 2726]
3. (3) [Option ID = 2727]
4. (4) [Option ID = 2728]

Correct Answer :-
® (4) [Option ID = 2728]

From which Financial Year, was the Railway Budget included
with the General Budget?

(1) 2017-2018
(2) 20162017
(3) 20152016
(4) 20182019

o oty o & Yo 9ot &1 o gic & wnfee fesar e

(1) 2017-2018
(2) 20162017
(3) 2015-2016
(4) 2018-2019

[Question ID = 683][Question Description = Q18_AOM_PC_NAIRJUNE23]
1. (1) [Option ID = 2729]
2. (2) [Option ID = 2730]
3. (3) [Option ID = 2731]
4. (4) [Option ID = 2732]

Correct Answer :-
e (1) [Option ID = 2729]



19 .
) What does QCBS stand for?
(1) Quality and Cost Based Selection
(2) Quantity Conscious Bid Selection
(3) Quality Confract Bid Selection
(4) None of these

I o o g

(1) i e e gee gea
@ aaifed bt s A
@) T Pt fis TawE
4 IR

[Question ID = 684][Question Description = Q19_AOM_PC_NAIRJUNE23]
1. (1) [Option ID = 2733]
2. (2) [Option ID = 2734]
3. (3) [Option ID = 2735]
4. (4) [Option ID = 2736]

Correct Answer :-
e (1) [Option ID = 2733]

The expenditure of the Railways is now covered in demand for
grants number.____

(1) 81
(2) 83
(3) 85
(4) None of these

(1) 81
) 83
(3) 85

@) 99 &IS58

[Question ID = 685][Question Description = Q20_AOM_PC_NAIRJUNE23]
1. (1) [Option ID = 2737]
2. (2) [Option ID = 2738]
3. (3) [Option ID = 2739]
4. (4) [Option ID = 2740]

Correct Answer :-
e (3) [Option ID = 2739]



21
) The full form of DRF is:
(1) Depreciation Reserve Fund
(2) Depreciation Renewal Fund
(3) Development Reserve Fund
{(4) None of these

SIRUG &1 g0 &0 8

(1) Ui fod B3
(2) i feEa bs
(3) Zguuyicfied Bs

(4) IS T

[Question ID = 686][Question Description = Q21_AOM_PC_NAIRJUNE23]
1. (1) [Option ID = 2741]
2. (2) [Option ID = 2742]
3. (3) [Option ID = 2743]
4. (4) [Option ID = 2744]

Correct Answer :-
e (1) [Option ID = 2741]

The gross budgetary support towards capital expenditure of
Indian Railways for the year 2023-24 is?

(1) Less than 1 Lakh Crore

(2) Between 1 and 2 Lakh Crores
(3) More than 2 Lakh Crores

(4) MNone of these

ay 2023-24 F fow YRATT Yed & Yelig o9 & A0 ged geic iy
T §?

(1) 1TE R A
(2) 12 PIS Had
(3) 2@ SIS Y IEl

@) FHI DS T

[Question ID = 687][Question Description = Q22_AOM_PC_NAIRJUNE23]
1. (1) [Option ID = 2745]
2. (2) [Option ID = 2746]
3. (3) [Option ID = 2747]
4. (4) [Option ID = 2748]

Correct Answer :-
e (3) [Option ID = 2747]



23
) The Plan Head under which works for custorner amenities are
included?

(1 51
() 52
3 53
(4) Mone of these

W §S foreeh Sicria arge giaersi & erl =i g2

(1) 51
@2) 52
(3) 53

4) FHEDRE R

[Question ID = 688][Question Description = Q23_AOM_PC_NAIRJUNE23]
1. (1) [Option ID = 2749]
2. (2) [Option ID = 2750]
3. (3) [Option ID = 2751]
4. (4) [Option ID = 2752]

Correct Answer :-
® (3) [Option ID = 2751]

The powers of the General Manager for sanctioning works
under Plan Head 16isupto .7

(1) Rs.25Crs
(2) Rs.5Crs.

(3) Rs.50Crs.
(4) None of these

Tﬂ:f%‘s’%m & fid Al @1 WP og HeTHEHE ®I el

(1) 52558
(2) ¥ 58
3) T.soTS

4) I DS 0

[Question ID = 689][Question Description = Q24_AOM_PC_NAIRJUNE23]
1. (1) [Option ID = 2753]
2. (2) [Option ID = 2754]
3. (3) [Option ID = 2755]
4. (4) [Option ID = 2756]

Correct Answer :-
e (1) [Option ID = 2753]



25) After the merger of the Railway Budget, what has been the

major implication?

(1) Railways no longer has to prepare its Annual Statement
of Receipis & Expendifure
(2) The Finance Ministry prepares the Railway Budget

(3) Railways no longer have to pay dividend to the
Govermnment
(4) MNone of these

o1 geie & fde & a1e, ugE Afgar] e wrgr

(1) Yord ot 39wl 3T a0y &1 39Uy aiftfes faaeo duR
ol T B

(2) o= Harey Ya gulc JaR Sl ©

(3) Yo7 B Sfe GBI DI AH L] &A1 B

@) TIPS Tl

[Question ID = 690][Question Description = Q25_AOM_PC_NAIRJUNE23]
1. (1) [Option ID = 2757]
2. (2) [Option ID = 2758]
3. (3) [Option ID = 2759]
4. (4) [Option ID = 2760]

Correct Answer :-
e (3) [Option ID = 2759]

Which 1s not an example of EBR Funding in Indian Railways?

(1) Leased assets from IRFC
(2) LIC loan

(3) RRSK Funds

(4) MNone of these

YRE Yod B SR G o & I SeTE 98 87

(1) Sremusd ¥ ug W
(2) ugeEd

(3) NIRUHS B

@) GBS AR

[Question ID = 691][Question Description = Q26_AOM_PC_NAIRJUNE23]
1. (1) [Option ID = 2761]
2. (2) [Option ID = 2762]
3. (3) [Option ID = 2763]
4. (4) [Option ID = 2764]

Correct Answer :-
e (3) [Option ID = 2763]



27
) What is NOT a source of funding for Indian Railways to finance

its capital expenditure projects?

(1) Exira budgetary resources

(2) Gross budgetary support

(3) Internal resources of Indian Raillways
(4) None of these

YR Ie7d o GuiTg o uhdierat o faaamo & foe g9 @1
Hid a1 8l 82

(1) sffdia gerca SHEA

(2) Hod deierg gaYE

(3) YT Iad & oo garem
(4) THYEETC

[Question ID = 692][Question Description = Q27_AOM_PC_NAIRJUNE23]
1. (1) [Option ID = 2765]
2. (2) [Option ID = 2766]
3. (3) [Option ID = 2767]
4. (4) [Option ID = 2768]

Correct Answer :-
® (4) [Option ID = 2768]

Re-appropration of funds from one plan head to another plan
head is within the powers of?

(1) DRM

(2) PHOD

(1) GM

(4) Railway Board

T® @ 85 9 G Wi g8 | HftEl &1 gAidaee fue
PR AT 2

(1) ¥=d i uays
(2) wur fayrmee
(3) HEmEYS
(4) IsaaEs

[Question ID = 693][Question Description = Q28_AOM_PC_NAIRJUNE23]
1. (1) [Option ID = 2769]
2. (2) [Option ID = 2770]
3. (3) [Option ID = 2771]
4. (4) [Option ID = 2772]

Correct Answer :-
® (4) [Option ID = 2772]



Percentage of working expenses to gross eamings is known as?

(1) Inventory Tum Over Ratio
(2) Operating Ratio

(3) Liguidity Ratio

(4) None of these

Hhd HIY & WIYe H1d o4 BT Uiawid &l SeEdidl 82

(1) zdedt o offae Rm
(2)  3TRfeT IR
(3) Torilsel A=m
(4) A DS T

[Question ID = 694][Question Description = Q29_AOM_PC_NAIRJUNE23]
1. (1) [Option ID = 2773]
2. (2) [Option ID = 2774]
3. (3) [Option ID = 2775]
4. (4) [Option ID = 2776]

Correct Answer :-
® (2) [Option ID = 2774]

Abstract Y’ in Earning Classification is?

(1) Passenger Earning

(2) Goods Eamning

(3) Sundry Eaming

(4) Other Coaching Earning

ST TR H OR 915 o1 82

(1) OFsR aiff
(2) g T
3) wt s
(@) 3 @it

[Question ID = 695][Question Description = Q30_AOM_PC_NAIRJUNE23]
1. (1) [Option ID = 2777]
2. (2) [Option ID = 2778]
3. (3) [Option ID = 2779]
4. (4) [Option ID = 2780]

Correct Answer :-
e (2) [Option ID = 2778]



31
) Administrative approval of competent Authority for incurring

expenditure is accorded at this stage?

(1) Abstract Estimate
(2) Detailed Estimate
(3) Revised Esiimate
(4) Completion Estimate

U TR W o0 & & Y GeH MNSRE & Wadi-e Wdidid
UEH @ 91l 87

(1) WRFEA

(2) faxgegaA
(3) HEifdE saE
(4) FAUH oI

[Question ID = 696][Question Description = Q31_AOM_PC_NAIRJUNE23]
1. (1) [Option ID = 2781]
2. (2) [Option ID = 2782]
3. (3) [Option ID = 2783]
4. (4) [Option ID = 2784]

Correct Answer :-
e (1) [Option ID = 2781]

Minimum notice period for guatations 15?

(1) 7 days

(2) 10days

(3) 12 days

(4) MNone of these

WA & AT e T 3af 87

(M 7faq
@ 10fe=
(3) 12f=
4) ISR I

[Question ID = 697][Question Description = Q32_AOM_PC_NAIRJUNE23]
1. (1) [Option ID = 2785]
2. (2) [Option ID = 2786]
3. (3) [Option ID = 2787]
4. (4) [Option ID = 2788]

Correct Answer :-
e (1) [Option ID = 2785]



33) Variation beyond 150% of the contract value requires the

sanction of?

(1) Railway Board

(2) GM

(3) PHOD

(4) Tender Accepting Authority

SRSy T & 150% W fw ukad & T fwe ded @
IYaHl 52

() ITRaEE

(2) wHEMEHD

(3) wEE AuTTEIE

(4) e SieR H33 e wiEER]

[Question ID = 698][Question Description = Q33_AOM_PC_NAIRJUNE23]
1. (1) [Option ID = 2789]
2. (2) [Option ID = 2790]
3. (3) [Option ID = 2791]
4. (4) [Option ID = 2792]

Correct Answer :-
® (2) [Option ID = 2790]

Primary Unit of allocation denotes?

(1) Nature of expenditure

(2) Object of expenditure

(3) Authornty who has incurred the expenditure
(4) None of these

Hde & unuftie Sors aidl 82

(1) omDiuH

(2) ogmwlay

(3) wifirmeu foee o frar g
@) A B

[Question ID = 699][Question Description = Q34_AOM_PC_NAIRJUNE23]
1. (1) [Option ID = 2793]
2. (2) [Option ID = 2794]
3. (3) [Option ID = 2795]
4. (4) [Option ID = 2796]

Correct Answer :-
® (2) [Option ID = 2794]



33) Cash in Transit 157

(1) The cash taken by station in the balance sheet is
accounted by cash office in the following month
(2) The cash accounted by station in a month

(3) The cash accounted by cash office in @ month
(4) MNone of these

&g cifse 22

(1) odig e & Ry= gRI N 7S Jod & fgue s wea o
T TS gRT [T wan §

(2) ue HSH H ¥ R %G [BuE

() uHHEH H Py sUiay gRI TéG Rue

@) IR

[Question ID = 700][Question Description = Q35_AOM_PC_NAIRJUNE23]
1. (1) [Option ID = 2797]
2. (2) [Option ID = 2798]
3. (3) [Option ID = 2799]
4. (4) [Option ID = 2800]

Correct Answer :-
e (1) [Option ID = 2797]





